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Table 3.

“Best” Cosmological Parameters

Description Symbol Value + uncertainty  — uncertainty
Total density Dot 102 0.02 0.02
Equation of state of quintessence w < —0.78 95% CL

Dark energy density 0, 0.73 0.04 0.04
Baryon density Qph? 0.0224 0.0009 0.000%
Baryon density Qp 0.044 0.004 0.004
Baryon density (cm™ %) g 25 % 1077 0.1 % 1077 011077
Matter density Qe h? 0.135 0.008 0.009
Matter density Qm 0.27 0.04 0.04
Light neutrino density O, k2 < 0.0076 95% CL

COMB temperature (K)? Tem 2725 0.002 0.002
CMB photon density (cm™3)P ne 410.4 0.9 0.9
Baryon-to-photon ratio n 6.1 10710 0.3 x 1071 0.2 x 10719
Baryon-to-matter ratio fe M= 0.17 0.01 0.01
Fluctuation amplitude in sh—t Mpec spheres T8 0.84 0.04 0.04
Low-z cluster abundance scaling a5 0.44 0.04 0.05
Power spectrum normalization (at ko = 0.05 Mpc—1)¢ A 0.833 0.086 0.083
Scalar spectral index (at ko = 0.05 Mpe~!)° na 0.93 0.03 0.03
Running index slope (at kp = 0.05 Mpc—!)¢ dng /dlnk —0.031 0.016 0.018
Tensor-to-scalar ratio (at kg = 0.002 Mpc") T < 0.90 95% CL

Redshift of decoupling Zhee 1089 1 1
Thickness of decoupling (FWHM) Azgee 195 2 2
Hubble constant h 0.71 0.04 0.02
Age of universe (Gyr) to 13.7 0.2 0.2
Age at decoupling (kyr) taec ar! 8 7
Age at reionization (Myr, 95% CL)) tr 180 220 a0
Decaupling time interval (kyr) Atgoe 18 3 2
Redshift of matter-energy equality Zeg 3233 194 210
Reionization optical depth T 0.17 0.04 0.04
Redshift of reionization (95% CL) zr 20 10 9
Sound horizon at decoupling (%) B4 0.598 0.002 0.002
Angular size distance (Gpe) da 14.0 0.2 0.3
Acoustic scale? s 301 1 1
Sound horizon at decoupling (Mpe)? e 147 2 2

*from COBE (Mather et al. 1999)
bderived from COBE (Mather et al. 1999)
Clopp 7700

ey =m0y Ba=rids!

012 000000000000000 (Sperge 0 [29))

12



Table 10. Basic and Derived Cosmological Parameters: Running Spectral Index Model®

Mean and 68% Confidence Errors

Amplitude of fluctuations A= 0‘83tg:gg

Spectral Index at k = 0.05 Mpc ™! ns = 093 £0.03
Derivative of Spectral Index dngfdInk = —0.0311301¢
Hubble Constant h=0.71130%

Baryon Density k2 = 0.0224 + 0.0009
Matter Density 2,07 = 0.1351 5598
Optical Depth T =017 £ 0.06

Matter Power Spectrum Normalization gz = 0.84 £0.04
Characteristic Amplitude of Velocity Fluctnations oz0Q0f = 0.387)5%
Baryon Density/Critical Density 2 = 0.044 = 0.004
Matter Density/Critical Density Qm = 0.27 +0.04

Age of the Universe to = 13.7+£0.2 Gyr
Reionization Redshift” zZ=17+4

Decoupling Redshift Zgee = 1089 £ 1

Age of the Universe at Decoupling tdee = ETQfg kyr
Thickness of Surface of Last Scatter Azg. =195+ 2
Thickness of Surface of Last Scatter Atlgee = 1181’% kyr
Redshift of Matter/Radiation Equality Zeg = 3233150

Sound Horizon at Decoupling rs = 147 + 2 Mpe
Angular Size Distance to the Decoupling Surface  dy = 14.0t3§ Gpe
Acoustic Angular Scale® fa4=30141

Current Density of Baryons np = (2.5+£0.1) x 1077 em™3
Baryon/Photon Ratio n= (Gltgg} x 1010

“Fit to the WMAP , CBI, ACBAR, 2dFGRS and Lyman « forest data

b Assumes ionization fraction, ze=1

© Iy = wde 1,

013:000000000000000 (Bennett O [30))
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O 1.14: The Sunyaev-Zel’dovich Array (SZA)
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0 1.16: SOUTH POLE TELESCOPE at Amundsen-Scott South Pole Station
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]fBTe:15keV

1OglO 5 kinematic
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logig 7 kinematic

— S5 keV

i —10 keV

—— 15 keV

0315 0(f9*) 00 O(4%?) 000000000000 00000DNO0DNO0DNDN0NDNNNNOOn
5keVO 10 keVO 15 keV OO 000000000000
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3.3.6 UJUO0OOOO

gboooboboooobooboobooboobooooboooDn

An 7XeX
e A TR R

rXeX 5 3 4
+mﬂpl (cosb,) [Co +60.C1+0:C2 +0.C5 + 0804]
rXeX
eX —1

52P2 (COS afy) |:D0 + t‘)eDl + 03D2 + t‘)ng] (342)

gboooboboooooboooooobooogon

AT XieX
— = mﬁz’ [Bo + 6.B1 + 02 B> + 62 Bs]

XteX 2 3 4
mﬁpl (COS 97) [CO + 9601 + 0602 + 0603 + 9604]

XteX
(€X . 1)2 ﬁzPZ(Cosev) [DO + OeDl + 03D2 + 03D3] (343)

_|_

_|_

boooOobooooobobooobobobooobooooooboOooobOobooboOobooonog

g (B;) = % x [B;#Y] (0<i<3) (3.44)
4,X )

() = rqmxla] 0<i<y (3.45)

M) = T xba) 0<isy (3.46)
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—-2.E+00

0 3.16: AI/r(B;)000000000000000000(0<i<3)

—B.O0

—B_1
B2x10

—B.3%x1072

10

|

143

X



'=4)

1

=
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4.E+00

3.E+00

2.E+00

1.E+00

0.E+00

-1.E+00

—-2.E+00

-3.E+00

-4 E+00

—D.0

—D_1
D2x10

—D.3x1072

X

0 3.8 AI/r(D;)000000000000000000(0<i<3)

145




3.4 ShimonU Rephaeli 0000000000 0O0O0OOOODOOOO0O
HEERN

3.4.1 Shimon[ Rephaeli D0 00000 O0OOOOOOO0O
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gbooobooooooobooboooboboooooboooobobooboobooboobobooooboon
oboboboobooooboooobooobooboboboboooooooobooboobobOooboOobann
goodobobobooooooboboodoooub bbb b bbb b DboD

000000000000 dpresentd Shimon O Rephaeli 0000000 g 0000000000000

(Al)present analytic — (AI)present numerical
6 resen = 347
? ’ ‘ (Al)present numerical ( )
(AI)SR analytic — (AI)present numerical
] = 3.48
St ‘ (AI)present numerical ( )

O00000D000000000DODDOD0O000 5keVO10keVO15keVOODOOOOOOODODODODO
oo0 31900 32000 3210000

goooogoboooobooboooobobooooobobobooooboobobOoboobDOobooog
0000000000000 0000O00000000000000UoO0OOs5keVOOOO 1% 010 keV
00002% 015keVO D00 3% 00000000000000000
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—— O present
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0 319: 0000000 kT, =5keVOOOO00O00O00000O000O00O00000B00000 6present
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1 kB Te =10 keV .
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_3 »
_4 _
_5 »
—— & _present ]
-6 L — 0 _SR _
_7 1 1 1 1 1 1 1
0 2 4 6 8 10 12 14

0 320: 0000000 kT, =10keVOOOO0O0DO0O0000O00O0OO0O0O0000B00O000 6present
O Shimon O Rephaeli D0 0000 égg OOODOODOOODO
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kB Te =15 keV
_‘l n
_2 N
_3 N
_4 |
_5 |
—— 0 present |
6 | — 0 SR |
_7 1 1 1 1 1 1 1
0 2 4 6 8 10 12 14

0321: 0000000 kT, =15keVO 0000000000000 COO0O0O0C000B00O000 6present
O Shimon O Rephaeli D0 0000 égg OOODOODOOODO
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3.4.2 Shimon[ Rephaeli OO0 OO0OOOOOO0O

Shimon 0 Rephaeli 0000000000000 OOOOOOOOO

000000000000000000000D0Rephaeli(1995a,1995b) 000 0000000000000

gbooooobooogon
gboocobOoboooooooooon

1. 0000« 0000b00000obo
2.0000e000000000D0O00O00DOO
. ob0ooooooboooooboooon

4. 00000000000 O0O0CMBOODDOO

goooooooo
goooooooo UUi00onoooooooon

p(fo) = p(po)
1
= dpio
2v4 (1 + Buo)®
o = cosby
g = & (v,00000D0)
C
v = _ (00D00000000D)
V1= B2

oood
oooooooooOo0OD ¢UOb0O0O0OOOooooo H(I)EIIZIIZIEIEIEIEIEIEIEI

3 1
f (po, o) iy = 3 [1 + g + 5 (L= ) (1= ) | disg

0000000000000 Wright [46)000 19790 000000000000

00000000000 s (vOOOOOOODOOOO, Y/O000OOC0OOOOOO )OOOO

1 !
ln< +5N0>
1+ Buo
goooooo
oo — 140
1+ Buo
B /
efds = ———d
1+ Buo Ho
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OOooooooO0oob vw=cp000D000O0O0ODOOOOODO sOOODOOOO

d !
P(s;8)ds = /p(uo)f(uoa%)d/‘o (%) s
sf ,UOMUO
2743 / (14 Bro s (3-55)

O00O0P(s;4)000000000CODOO0OCODOOOOOOOOODOO

/ 2P P (5 8) df
P (s)ds = ds (3.56)
[ e as

gbooobooboobgoobobooboo

dnzlga:) = cneor /OO [n (ze®) — n(z)] Pi(s)ds (3.57)

— 00

gbooobooobooood

ne : OogoOoO4d0O

or : OO0OOO0OOOODO
hv
kT

T DDDDDD(E , TDCMBDDD)

Shimon 0 Rephaeli 0000000000000 OOOOOOOOOOO

000 Shimon O Rephaeli D0 0000000000000 OOOSazonov & Sunyaev [10]0 00000
0000000000000 ooooooonD SzoooO00oOoOoOoOoOO duedpds 000000 Sazonov
& Sunyaev [10] 000 SZ0000000000000 dBdugduy 00000000000 DOSazonov &
Sunyaev [10]0 000000000000 O00DO0O0OO0O0O0O0OO0O0OO0O0ODOOO0OOD 20000
goooooboooob xXgooooooo

gbooobOoboooobooboooooobooboooogn

dno

do
d—to(,uo,'/o) = Cneo/dﬂ, [no (g, v0) — no (1o, vo)] dSY, (3.58)

oood
neg : OOO0O0OO0OOOO0OOCODOOOO

0000o00o0o0ooOoOooOocCcMBOOOOOOOOUOOOOOOOOOCMBOOOOOOOOw, YOO
gboooooooooobo

nv) = ———
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= - 3.60
1 (3.60)
0O000D00000D0000O0
v = vy (1+ Buo)
Vo= vy (14 Bug)
h
DDDDDDDDDDDDDDDDDDDDDDDDxME#%DDDDD
B
1
no (Mo, o) = e 1 (3.61)
1
. S 3.62
mo ko) = (362
spsfsjsislufutsfsls
!
o = pit POt (3.63)
1+ Buo
D000DD00000D00000000000000000000
do 1 ,
o _ 1 64
dQ() QUTf (/’LOMU’O) (3 6 )

goooooo

000(@358) 0000000000000 00U0O00O0000Nd, 0000000 neeO CMBOODO
OO0ooo04d0000n, 000D0O0OO0OO0ODOO

oboooboboooobooooonogd

dt
dty = ——— 3.65
0 v (1 + Bpo) (3.65)
Neo = MNe/Y (3.66)
goooooa
dng cn do
arng — [ e 4T o ) _
gooooooo
on = no (Ko, %) — no (1o, o)
1 1
= o1 w1 (3.68)
1+ By
= 3.69
1+ Buo (3.69)
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do

|:||:||:||:||:|dQ,dQBDDDDDDDDDDDDDDDD|:||:||:||:||:||:||]|:|
0
dot
), = —duf—>
0 N027r
dul _ ;dul
= 0
72 (1+ Bup)?
de' = dgy
googg
d0'> o do 1
29 AV = 21+ T o
<d96 CMB ° d9672(1+ﬂ%)2 ’
do
= dQ)!
oy

cooooooooooooooocMBOOOoOoOooooOoOoO

d
000(3.67)00 dQE—d/},2—<P|:||:||:||:|DDDDDDDDDDDDDDDDDDDDDDDD

m
gbooobooboobooboobooboon

1

dp = ———dwo
72 (1 + Buo)?
de = dpg
gooono
en do 1 _Bi—mec®
—  —nd————dQe” FBTe p’d
dn ///72(1+ﬂuo)dﬂ'o °32 (Lt o) T
P Ep—mec?
dt /67 k5 Te p%dpt
00000000 @s.76)000on
Ey—mec? E—mec?
/67 BT pidpy = /67 T pldp
goooobboooooon
P YMeve
E  “ymec?
¢
= p
Jddp0dOooooOoO
1
p = -PBE
c
E,
= %)ﬂfy (Eo = mec?)
dp = > [y+8(:°6)]dp
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oooooooo
LB\ E,
/ﬁ@ = / (Jﬁ (By)> —~*dp
B=0 C C

Eqo e 512
= (= v*B2dp (3.81)
C B=0
1 27T
/ o - / / an2?
p=—1Jp=0 2w
goooooo

3 1 1 2m 1 2T
<@> / / / / / Lgd—g,(me_ kBTe ~®32dBdp rd‘POd 0d<P0
dn € ) =0 up=-1Joy=0 Juo=—1Jpo=0 7* (1+ﬁuo) ds), 27
dt I
Gy
c 5=0
1 1 1 2m 2
Chle do _Bi=mee? dyo
- Jdne kpTe ,ySﬂZdﬂduld'uO_
/ﬁ=°/%=1 e oo 5

= - — (3.82)
/ P pRe Tt dp
8=0

gbooooobooogon

good

OooooooooOoUoOooooOoOoOooOooOo szoogooooooOooooo cMBOOOOODOO
E,=FEQ (3.82)DDDDDDDDDDDDDDDDDDDDDDGE:cﬁCDDDDDDDDDDDDDD
OooO0oo00OD0O0OD0OO SZooooOoOOoOODE,#E0000O

gbobooboooobooboooboooboooon

E::%@+ﬂ@) (3.83)
ﬁ = Ye (ﬁt + cht/C) (384)
oooooo
E = Ye [Et + CB; . (ﬁ/’)/c - cht/c)]
= ’cht + cﬁcﬁ_ 7063Et
= Ei/y.+cB.-GE/c
E, Z’h@—@wﬂE (3.85)
ooooooo

Ooo0ogogo szoooooocoeMBODODOOOoOOoOoOoOoOOoOOOOODDOOOOOOOOOODOD
gboooboooboobooboboobobooboobooboobob
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00 SZOOO0O E,=E=~E,00000
E, —m.c? vEo/mec® — 1
exp|l————— | = exp|——sr—F———
P k5T, P\ ks T /mec?
_ -l
_ exp( - )
0000 SZOOOODO Et:fyc(l—ﬁc-ﬁ)EE%EODDDDD
. E, —m.c? . YEo/mec® — 1
xp | —————— = exp|——"F7"7—7—
P k5T, P\ T kp T mec?

-1
= exp (—%9 )

gboooobogo

(3.86)

(3.87)

00000000000(382)0000000000000000000D000UO0O0O0D0O0O0O

E,
dSPt = EtdSP
= v (1 - B.-B)p*dpdudp

= 7. (1-B.-B)y°B*dBdudy

(3.88)

gooooooooooOoOoOooOoOoCoMBOOOOOOOOOOOOOoOoOoooooooogoooooo
000o0oo0ooo0o0q(1-68.-4)0000000000000COOODO0OOOOODOOOODOOOO
goooooooooboobobooooooooooboooobobboobDoboobobobboooboooD

ooooo
gbooobobooooboobooooboboobooboooooaon

00 SzOO
dt - D/,B 0/#0—1/%—1'7 1+ﬁuo) dQ’

ooooszoo

Cle do m=t ©o
= —one % ~°B2dBduldpg——
dt D /,8 o/u =-1 /HO_1 / =0 y*(1+ ﬁ,uo)3 d), 0707y

0=

oo
1 L
D = / v 32 e dp
0

%(l—ﬁc-ﬁ)v

1

2
Il

Ye = 7@
B; = f.(sinf.cosp., sinf.siny,, cosf.)
= f.(sinf., 0, cosb,) (¢ =0)
ﬁ = [ (sinfcosyp, sinfsinp, cosh)
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gooooooooooooooooooooooo
gooooooooooooo

po + 3
1+ Buo
Y = ¥o (3.97)

cos 6

(3.96)

gooooo
000000000000 000O0000O00000O0O00O0ODOO0OoOoOO@YyUoooouoooo

An = /d—ndt

dt 1 i—1
ngn ° / / / / [ (10, ph) e 7552dﬁd%d110%
3=0 Juy=—1 J po=—1 4(1+ Bpo) 2

goooboooo TEUTfncdtDDDDDDDDEIDD

dyo
- - 217/,@0/ 1/ 1/ 1+Bu T ! e se) e Ao (3.98)
== Ho=— 0

(3.98) 00000 0(96) ,O(ﬁc) gbobOobOobOobOobOobobobooooboooooooboan
oooooo

1
u = 0 , u = Ed’y (3.99)
1 1 28 s
T = T o =35 75 v°pdB (3.100)
Vi-p 2(1-p2)"
v = 1l+6eu (3.101)
2 -1 V.u + 2
= Oett——— .102
S v 0.u T+ 0.0 (3.102)
good
1
dg = ——0.du 3.103
R (3.103)
oooooooboooodg
000000000000 Az 100000000
rz = T+ Az (3.104)
Az = (z—1z
1+ Bug )
= —1)z
<1 + Bro
B (1o — 1)
_ - 3.105
1+ Buo ( )
1
= 1
n(x) pra— (3.106)
n(zz) = n(zx+ Az)
1 0%n(x)
~ — Ax)* 1
21 (Ae) (8.107)
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0000p0600000000D0000BOOODODOOO 0(
DI]I]I]I]n(:nz)EIIZIO((Aa:)lO)EIIZIIZIIZIIZIIZIIZIIZIIZIIZIIZIIZI

10
10
Zz

n(xz) =~ 83:’“
on = n(zz)—n(z)
0 1 0%n(x)
~ ;E Dk (Az
good
obooobooboobooboobooobooo
fB) = 67”9_15 —VC(I_EC'E)7
2 D (3, 5 0)
) ~ IGO0,
=0 )
I8 = =gt ()
=~ [2. (1= G- B) =7 (5. 5)]
S5 o o 2
16 = g[8 (15 B) = (B8)] 4
_0_{[376 (’Ycﬁc)ﬁc‘F% ( ﬁ ﬁ
f(B.=0) = e
=0 = gy (BB
% N2 ~y—1
Fe0 = g (58) -]
goooooooo
2 - 7 B2 3

gbooooooooobobooobooboooon

A 10
= = ZAkLk
-
k=1
oFn(z)
_ ok k
Ak = 2%x ag[jk
(k—1)
= —9ok=2,k [smh 2 m]
2w k+1
Ly = 2k+1le/ / / / : k+3
uy=—1Jpo=—1Jpo=0 * 1+[3uo)
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z)* (3.108)

)k (3.109)

v (Be)

f(Be)

) = 2926, (8. 8) } 2/ (8

5)2 ;;] } e (3.110)
(3.111)
(3.112)
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X {1 + 8. - 5018 + {—%‘?% + (ﬁc 3)2 ;922] } e*“dudugdug% (3.113)
D = /00 2 Be™ "8 du (3.114)
N O (3.115)
B = \/Oe_ui'lafaju2 (3.116)
gooooooooobog
Joodooboboboooooobobobboooooon
% = 0.Fy +0’F +0°F3 + 0F, + 0°F;
—Bette <%A1 +60.Fi5 4+ 602F 14 + 02 Fi5 + 03F16>
+B2Ps (1) (F17 +6.Fis + 02 Fig + 93F20)
+32 < Fi + 0. Fy + 02 Fys + 62 F24> (3.117)
oo
e = cosf, (3.118)
Po(u) = 3 (32 -1) (3.119)
o0ooooOo@s117)oooooo
F = 24, + iA2 (3.120)
B = 54, + %AQ ¥ ?Azi + %0‘44 (3.121)
P o= %Al + %AQ + 210 A+ 380 A+ L " Ly 1;;0A6 (3.122)
o= —%Al + 2225/12 + 3;39A3 + 1‘11223/14 + %Ag, + 182906509A6 + 211 A+ 3 618 s (3123)
o= %Al %/b n 6283091A3 n 616%17027144 n 123423089A5 n 32?;83146 n 2303761 %AB
1;92/19 * 21;(1)40/110 (8.124)
Fis = B5A+ —7A2 + 41A3 (3.125)
Fia = 22—5A1 %Ag %Ag 4 18 A4 + 31210A (3.126)
Fie = _§A1 - %fh " 35392007%3 " gi’fiélfh " 135068057A5 " 22323%6 " 1617923A7 - 3136670 s
+%5104A9 (3.128)
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Fiz
Fis
Fig
Fy
Fy
Fas

Fyy

000000000000 (3.112)00 sinh(%)[l[l[l[l[l[l 1<k<10000000000

%Al + 11710A2

241 + 34, + %Ag + %fh

AL+ 21_701A2 * %A3 * 120264003A4 * f10290 As + 22:8A6

%z‘h + 42(2)9142 + 3?;37143 + 11899968097 4 52;4(?145 + %As + %fh + %As
5A; + §A2 + 1—70A3 + TZOA4

22—5A1 + 6%’/12 + %Ag + %/ﬁ + i—(l)As + %Ae

? A+ 1262455 A+ 2383073 A+ 82231 Aot 1;(7331 - 186926007 - % At %60 4,

1=~
Al sinh = —55
As sinh = SX
Az sinh = —26X2?_63
Ay sinh = 45X°%+4+8S%X

As sinh —88X* — 4453X?% 885

Ag sinh = 16SX° +2085°X° +1365°X
Az sinh = —325X%_9125%X* — 14405° X2 — 1365”7

Agsinh

N
=)
Z.
=
=

AN TN NSNS, NST,N TN TN N
N’ N e e e e e e N

8NN NENDENDRNDIERNER

—
I

Al() sinh

/N

2

oo0o0oooooXoSoo

P
Il

x coth (%)

T
sinh (%)

4

00000000 @B113)001<k<l000000on

Ly

1 1 1 1 2
26, + 562 + 1503 - 159;* + gaé — Bepte (5 + 50, + 3503 +

1 15 2 25
+32P5 (pe) (5 + 26, + 56° + Zaf) + 32 (5 + 50, + 703 +
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= 645X7 + 38405%X° + 122885°X? + 396857 X
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5
50

)
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_93__04
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)

= —1285X® — 158085° X% — 929285° X * — 6860857 X2 — 39685°

2565 X9 + 6425653 X7 + 65241655 X° + 92057657 X3 + 17689657 X
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(3.132)
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